G OBI Intelligent Dezigns 2000 Corp.
Denver, Colorado 80211
alCls: www. GOBIRA CKS.com

GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

The rack must be inspected before each use to make certain attachments are
secure, and for evidence of wear.  Misus e of the rack or failure to observe the
manufacturer's instructions as to installation, proper Attachment and
maintenance will void warranties that may be implied by law.

TOOLS REQUIRED FOR INSTALLATION:

2-1/2" Open and closed end wrench

2- 9/16" Open and closed end wrench

1- 9/16" socket with 3/8" drive and 10" extension
1- 18mm socket (for rear bumper removal)

1- 13mm socket (for rear bumper removl)

1- 10mm socket with 3/8" drive

1- Torx bit (T-S0) (hard top removal)

1- Torx bit (T-235) (for front side mirror covers)
1- 3/16 Allen wrench

1- small rubber mallet

1- extra anti-seize lubricant

1- denatured alcohol

CAUTION

USE ANTI-SEIZE LUBRICANT
ON ALL SCREWS

NOTE: PAY SPECTIAL ATTENTION TO RED HIGHLIGHTED INSTRUCTIONS

Installation Instractions for GOBIFORD BEONCO 2 & 4 DOOR ROOF BACEK | eazrvo. GFERR sHEET 1 oF 26




G OBI Intelligent Designs 2000 Corp.

RACKS Demver, Colorado 20211

www. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Cuidelines:

Whet uging Load Carriers and Accessories, the user must understand the precautions. The points isted below
will azsist wou in using the rack fearter system and will encoarage safety,

# For quality fits and safty, use ondy the recommended rack or accessory. Do not assume an accessory will fit,
alwrays check with dealer when obtaining new accessories. Use only approved accessories on load carriers,
Uzitiz other brands will woid ywour wartentsy.

# Mlake sure all knobs, bolts, screws, straps, and locks are finmly attached, tightened and locked before every trip.
Knohs, bolts, serews, straps, and locks must be perodically inspected for signs of weat, corrosion, and fatioue.
Check ywour load at stops during the trip to insure contited fastening security.

# Checklocal and state laws governing projection of objects heyound the width of a wehicle. Be aware of the
widih and height of vour cargo since low clearance branches, bridges, and parking garages can affect the load
&1 cargo will affect the weldcle's diiving behavior. MNever diiwve with any lock, know, or rack in an open o
urdocked position.  Alllong loads such as, but not limited to sallboards, surfhoards, kayaks, canoes, and
lumiber must be tied down front and rear to the bumpers or tow hooks, of the wehicle.

# Femove ywout rack accessories when they are not in use, before intering car washes, prior to taking in your
welicle for service, and whenever clearanice may be an issue.

o A1 locks must be turned and moved periodically to insure smooth operation. Use graphite or similar dey
lubzicant to help this. Locks are designed to deter vandalism and theft. FRemowe valuable gear if ywour
vehicle is unattended for an extended period. Place at least one key in the glove compattment.

& For safety to sour vehicle and rack systen, obey all posted speed limdts and traffic cautions. Adapt your
speed to the conditions of the road and the load being carried.

# [0 not use load carriers and acceszories for purposes other than thosze for which they were designed. Do not
exc eed their carrying capacity.

# Corsult with wour dealer if vou have any questions regarding the operations and hmats of this product.
Eewriewr all instnactions carefiully.

RFEAD ALL INSTRUCTIONS PRIOR TO INSTALLATION

NOTE: PAY SPECTAL ATTENTION TO RED HIGHLIGHTED INSTRUCTIONS

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOR ROOF RACK | raz1wo. GFBRR SHEET 2 OF 20




GOBI

RACHS

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK

Intellirent Designs 2000 Coxp.
Denver, Colorado 80211
wunw, GOBIRACKS.com

Included in Jait INSTALLATION INSTRUCTIONS
Letter Description Location Quantity
A GOEIFORD ERONCO 2 & 4 DOOR. ROOF RACK Iain box 1
B GOEI BRONCO STEALTH FRONT LIGHT BAR Strapped to Rack 1
C GOEI BRONCO REAR RACK SUPPORTS PASSENGER AND DRIVER Strapped to Rack lea
D REAR RACE SUPPORT TOWERS W/ IN & OUT BRACES PASSENGER. AWND DRIVER. | Strapped to rack =
E EEAR TOWER FEAME EXTENSION W/ EXT. PLATESR E-1 PASSENGER AND DRIVER] Hardware Box =
F LIGHT BAR CLAMP, COVER PLATE, NUT PLATE, WEAR PLATE PASRS & DRIVER BAG #2 | ea
e GOBI RACK MOUNTING HARDWARE
4- Black nvlon bushings 10- 3/16-18 x 3/4" Carriage screws
4- 1/2" Flat washer 6- 5/16" Lock washers
2- 1/2-13 x 2-12" hex head scraw 14- 3/18" Flat washars
2- 172" Nylock aut 2- 53/16" Flat fender washers
12- 3/8-16 % 1-1/4" hex head serew 6- 3/16-18 x 1" Button head screws
o et ] 10- 5/16" Nylock nots L :
15, 3/8" Nvlock ot 4- 3/8-16 x 4-1/2" Carriage bolts il i
6- 3/8-16 % 1-1/4" Carriage scraws 2- 1/4" Flat washer (light bar foot plate)
e o R 4- F=ar support bar position plate --—-—E-]:f;:ﬁ
2- 3/8-16 x 1" Head head serew 1- Package of Anti-Szize lubricant )
GOEI VEHICLE BODY WEAR PLATES P D
CONTENTS:
2- Black, rectangular adhesive backed light bar | m [H
H wear plates, passenger & driver BAG #4 !
2-Black, hardtop upper rear isolator adhesive | D Ql Hardware Box
backed wear plate passenger and driver
2- Clear wear tape 2" x 7" with white backing —— 1 [
Elack rear fender isolater wear plate pass & dever (4- LS x 25mm 55 button Hardoazs B e
head screws & 4- 5/16" 55 flat washers supplied for soft top only) S =
J WINDSHIELD ACCESSORY LIGHT BAR SUPPORT BRACKETS PASS & DRIVER| BAG#S lea
K GOBI MINI WIND DEFLECTOES  {complete with all mounting hardware) Hardware Box lea

BAG#2 BAG#S BAG# BAG#H

Installation Instractions for GOBEI FORD BRONCO 2 & 4 DOOR ROOF RACK

perrvo. GFBRR SHEET 3 oF 26




G OBI Intellizent Derigne 2000 Corp.
K Denver, Colorado 80211
ke wuw, GOBIRACKS.com

GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

e
LIL]

i
[J

Qty. 6] 5/16" Lock Washer 55 B

]

Oty 10- 5M6-18 x 3/4” Carriage screws 55

-,
)

]

Qty. 12 | 3/8-16 % 1-1/4"

Oy, 2]1/2-13 x 2-1/2"Hex Head Screw 5SS
Qty. 4 | 3/8-16 x 4-1/2" Carriage Bolt

Qty. 6 | 3/8-16 x 1-1/4" Carriage Screws 55

o =H

Qty.2|3/8-16% 1"

Qty. B | 5/16 - 18 x 1" Button head 55
l:j

Qty. 2-| 5/16" Fender washer

©

Qty. 4| 1/2"Flat Washer 55 Qty. 42 | 3/8" Flat Washer 55 Oty.16 | 5/16" Flat Qty. 2 | 1/4" Flat
Washer 55 Washer

©

Qty. 4|Black Nylon Bushings Qty. 2| 1/2"Nylock Nuts S§  Qty. 28| 3/8" Nylock Nuts 55 Qty. 10 | 5/16" Nylock Nuts 55

Qty, 4| 3/8-16 x 1" Carriage Screws 55

@[::3%[) w——

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOR ROOF RACK | eaz1yo. GFBRR sHEET 4 orF 206




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Fig. 1 Fig. 2

As shown in Fig. 1, use a thin bladed screwdrver and push in on black tab (T to release and lft the passenger side cover
plate (C). As shown in Fig. 2 use a 10mm wrench and remove both hex head nuts {33), then remove plastic base plate (BEF) as

shown in Fig. 3. &
£ Fig. 5

A= shown in Fig. 4, remove the passenger side aceessory extension plate (AE) from Bag #3 of vour hardware kit. Orient plate (AE) as
shown in Fig. 3 over the passenger side two M6 threaded studs. Place base plate (BF) over accessory plate (AE) as shown in Fig. 5 & 6.
Thread nuts (33) back in place over base plate (BP) and acceszory plate (AE). Spread the gap between the two parts shown as ((3) as
much as possible while fully tightening down both nuts (33), do not over tighten to warp or crack plastic base plate (EP).

qFig. 7

As shownin Fig. 7 and Fig. 8, snap cover plate (C) back in place over base plate (BF). Remove from Bag =3 secondary
extenision plate (A2) and install as shown in Fig.5. Place one 5/16-18 x 3/4" carnage screw (C5) located in Bag =3, into
accessory plate {AE) then into plate (A2) as shown in Fig. 8.  Thread from the other side one 5/16" flat washer and one 5/16"
nylock nut and sz screws down in place.  Adjust plate (A2) all the way down. Leave some play for later adjustment.
Apply the same procedure to the opposite side.

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOR ROOF EACK | eaxrvo. GFBRE SHEET & oF 26




G OBI Intelligent Designe 2000 Coxp.
Denver, Colorado 20211

RACKS www. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

As shown in Fig. 9 remove the AM/FM antenna shown by a red arrow.  Then use a #T25 torx wrench and
remove the outside top screw (1) holding the driver side mirror plastic cover (B1) in place. Apply the same
procedure to the passenger side. As shown in Fig 10, clean off both the driver and passenger side "A" pillar top

to bottom using denatured alcohol.

As shown in Fig. 11 and Fig. 12, with the help of a friend, place the Gobi Bronco light bar (B) in place onto the
lower windshield "A" pillar and onto the driver side mirror cover (B1). Make certain to seat the lower light bar
foot (B2) as shown in Fig. 12 over the driver side mirror cover (B1) first. Then with a friend pulling the
passenger side of light bar (B) out, shown in Fig. 11 by a red arrow.  Slip the passenger side foot (B2) over the
passenger side "A" pillar and onto the passenger side mirror (B1) plastic cover.

SHEET § OF 26

Installation Instractions for GOBI FORD BRONCO 2 & 4 DOOR ROOF RACK | exr1vo. GFBRR




G OBI Intelligent Designe 2000 Coxp.
~HG Denver, Colorado 20211
i www. GOBIRACKS.com

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK

INSTALLATION INSTRUCTIONS

Fig. 13

Use a flat ¥4 washer (0 found in Bag =3 of vour hardware kit and place under the M§ tom screw (1) removed earlier from
plastic mirror cover (B1). As shownin Fig. 13, reinstall M6 Torx screw with 147 flat washer () through Gobi light bar foot
plate (B2) both driver and passenger. Thread screw in place but leave loose at this time. As shown in Fig. 14 remove wear
plate (B3} from Bag 74 of vour hardware kit. Do not remove the double back tape adhesive cover at this time. Gently lift the
upper end of light bar (B) away from the "A" Pillar as shown by the red arrow in Fig. 14, Shide wear plate (B3) as shown in
Fiz. 14 and Fig. 15 under hight bar upper presser foot (B4).

Fig. 15 Fig. 16

ADHESIVE COVER

EQUAL 3PACE

As shown in Fig. 15 align wear plate (B5) close to the edge of the windshield frame (F) and equal the amount of
plate on both ends of pressure foot (B6) as shown. Once yvou have wear plate (B5) set in place, apply a piece
of masking tape to mark the top of the wear plates position. Remove wear plate (B5) and the adhesive back
cover as shown in Fig. 16 and remstall by lifting light bar (B) and mstalling wear plate (B5) back in place. Press
down firmly and apply the same procedure to the passenger side.

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOF. ROOF FACK | esxrvo. GFERR SHEET 7 oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

As shown in Fig .17 use a #25 Torx drive and tichen down screw (1) to secure Gobi Bronco light bar foot plate in
place, both driver and passenger sides. Figure 18 shows the correct light bar (B) position. Remove masking
tape markers.

ol Clzan with
] alechol

As shown by the red arrows in Fig. 19. clean off the surface area of the "A" pillar with
denatured alcohol. Then remove wear plate (WP) from Bag #2 of your hardware kit.
Peel off the protective covering as shown in Fig. 19 and adhere in place as shown in
Fig. 20 over the corner of the "A" pillar and in line with window upper seal (SL).

Installation Instractions for GOBIFORD ERONCO 2 & 4 DOOR. ROOF RACK | exr1vo. GFBRR SHEET 8 oF 20




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Fig. 21

As shown in Fig. 21 remove nut plate (N) from Bag #2 of your hardware kit. Slip nut
plate (N) behind flange (F) and align with flange (F) holes as shown in Fig. 22 and hold in
place. Remove from Bag #2 clamp plate (CP) and place over flange (F) and wear plate
(WP) as shown in Fig. 22 and Fig. 23, align holes and hold in place.

Fig. 23

‘With the help of a friend, remove cover plate (CV) from Bag #2 and place over clamp plate (CP) as shown in
Fig. 23. Remove one 5/16-18 x 1" button head screw, one 5/16" lock washer and one 5/16" flat washer from
Bag #3 and thread hardware assembly (S) as shown in Fig. 24 through plates (CV) and (CP) and finally into
nut plate (N). Leave loose at this ime. Add two additional screw assemblies (S) into both remaining holes

and into nut plate (N). Leave entire assembly loose at this time.  Apply the same procedure to the opposite
side.

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOE. ROOF RACK | rarrwo. GFERR sHEET 9 oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Fig. 25 Fig. 26

Figure 25 shows how both the driver and passenger side clamp assembly part stack must appear. Nut plate
(N), flange (F), wear plate (WP, clamp plate (CP) and cover plate (CV) in proper order and loosely held in
place by three 5/16-18 x 1" button head screws, lock washers and flat washers (5). As shown in Fig. 26 by
red arrows, squeeze very tightly by hand the driver side clamp plate (CP) against the "A" pillar and pull down
on upper light bar tube at the same time. While continuing to hold pressure, have a friend keep cover plate
(CV) straight with clamp plate (CP) and fully tighten and secure all three 5/16" button head screws (5) using
the 3/16" Allen wrench supplied in Bag #3. Apply the same procedure to the opposite side.

Fig. 27a

As shown in Fig. 27, remove one 3/8-16 x 1" hex head screw and one 3/8" flat washer (W) from Bag =3 and thread down
through light bar mounting plate (F) and through accessory light bar support bracket (A2). Thread from the underside as
shown in Fig. 27a, one 3/8" flat washer and nylock nut (W1). Loosen screw (C5) using a 1/2" box end wrench just enough to
allow bracket (A2} to slide. Then fully tighten screws (W) and (W) and fully tighten screw (C5). Apply the same
procedure to the opposite side. Eemstall AMTL antenna. With force try to move light bar (B) as shown in Fig. 18
forward and bacloward and side to side to check that no play exists. If light bar does not move, the Gobi light bar installation
iz completed. If play exists repeat steps in Fig. 17 and 26 thiu 27a.

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOR ROOF RACK | per1vo. GFERR sHEET 10 oF 20




G OBI Intelligent Designs 2000 Coxp.

RACKS Demver, Colorado 80211

GENUINE ACCESSORIES

www, GOBIRACKS.com

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS
Fig. 28 Fig. 29

L)
-
|

e - iiw

Remove both hard top front pansls driver and passenger as shown in F

ig. 28. Then vnlock and move eenter main roof top panel forward as
shown in Fig. 28. Eemove rear hardtop serews (8) just vnder the rear back corners of the center panel vsing 2 ““T" 30 Torx wrench, as shown in
Fiz. 29 both passenser and driver sides. Finally remove all interior hard top serews (3I), 4 per side as shown in Fig. 30 veing 2 "T" 50 Torx
wrench. Disregard Fiz. 28 thre 31 if vou have a soft top.

Fig. 33

Cardboard spacer

4 [ o e '

As shown in Fig. 31 lift and prop vp the rear end of the hard top vsing 2 2-1/2" spacer of cardboard or the lilee, both driver and passenger at the
same time. If vou have a zoft top 1ift vp rear zoft top and prop vp weing the prop rod to hold in place. Remowve the driver side isolator wear
plate (TP} shown in Fig. 32 from wvour hardware Init.  As shown in Fig. 32, Fig 33 and 34, place 1solator plate (IF) over serew holes (H) and onto

vehicle body. Fig- 34 Fig_ 35 Fig. 36

K
b i
ik ot

er the driver side isolator wear plate (IP) is set in place over screw holes (H). Make certain the rear edge of plate (IF) is in
line with the hardtop rear parting line (F) as shown in Fig. 33, then apply the same procedure to the passenger side. Aliznment
to parting line (F) does not apply to soft tops. As shown in Fig. 36 take two pieces of masking tape and outline two sides of
the isolator plate, approximately 1/8" to 1/4" from the edges. Remove the isolator plate (IF) and clean the surface with
denatured alcohol. Remove from Bag =4 one piece of clear weartape 2" x7".  Peel off the white protective film and adhere
the clear wear tape in place within the masling tape lines to protect the paint against rubbing wear. Reinstall isolator plate as
shown in Fig. 34 and 35 and apply the same procedure to the opposite side then remove the masking tape edge martkers.

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOR ROOF RACK | earrwo. GFERE sHEeT 11 oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 20211

www, GOBIRACKS.com
GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Fig. 37 Fig. 38

Make certain the driver and passenger side isolator plates (IP) are still tight up against the body as shown in
Fig. 37 and lower hard top down onto isolator plates (IP). Reinstall all screws removed earlier in Fig. 29 thru
30 and fully tighten in place as shown in Fig 38. For soft tops. isolator mounting screws are supplied with
isolator plates, use these screws and washers to mount the isolator plates in place tight up against the vehicle
body at this time. Then drop rear soft top section back down in place.

DISREGARD FIGURES 39 THRU 41 IF YOU HAVE A SOFT TOP
Fig. 40

As shown in Fig. 39, remove top rear isolator plate (IP) from Bag #4 for a 4-door roof rack or (IP2) for a 2-
door roof rack as shown in Fig. 41. Then place the driver side upper rear isolator plate (IP) or (IP2) within
the notch of the hard top to get a feel of how the isolator plate will fit in place. Omnce vou understand fitment
remove the upper isolator plate and clean the area of the hardtop under the isolator plate with denatured
alcohol. Wait for the area to dry then remove the protective double back tape covering from the isolator plate
as shown in Fig. 40. Install as shown in Fig. 39 for a 4-door and Fig. 41 for a 2-door. Hold in place for 30
seconds and apply the same procedure to the passenger side.

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOR ROOF RACK | pax1vo. GFERR sureT 12 oF 20




G OBI Intelligent Dezigne 2000 Coxp.
RACKS oo, COBIRA CKS.dom
GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK

INSTALLATION INSTRUCTIONS

The rear bumper (RB) will need to
#30 . be removed by first unplugging

=#1.~| both driver and passenger side rear
M1 backup sensor plugs (SP) as

shown in Fig. 42 and Fig. 43.

Both sensors are located at the

| ends of the rear bumper towards

®4 the rear tire as shown in Fig. 42.

As vou can see 1 Fig. 42 just between the rear bumper and mud flap 1s the rear
bumper back up sensor plug (SP). Figure 43 shows a closer view of the backup
sensor plug (SP) which will need to be disconnected as shown in Fig. 44.

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOR. ROOF RACK | eazrvo. GFBRR sHEeT 13 oF 26




G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado £0211

www. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Fig. 44

As shown in Fig. 44 by a red arrow, push
in at the top of the flat side of connector
(SP) then at the same time pull down on
the lower half of the connector (LH).
Leave the lower half of the connector
hanging freely at this time. Apply the
same procedure to the opposite side.
When time comes to remstall, simply
align the parts and push the lower half of
connector (LH) up into the upper

PRl L 4 connector (SP). Force may need to be
A TN applied 1n order for the parts to lock

R | together

= N -
bolt (BE) and set aside for later
reinstallation unless you have an aftermarket rear bumper which does not require the screw. Shown in Fig.
45 remove both Tow loop bolts (TB) using an 18mm socket and set aside for later reinstallation. As shown in
Fig 46 pull down on Tow loop with a little force to remove the Tow loop plastic push in rivet (PR} and set
aside for reinstallation. Apply the same procedure to the opposite side. Open rear door and with the help of a
friend and fully remove rear bumper and set aside for remnstallation.

)

As shown in Fig 45 use a 13mm Snckt d remove rear bumper end

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOR ROOF RACK | errr1wo. GFBRR sHEET 14 oF 26




G OBI Intellizent Designs 2000 Coxp.
Demver, Colorade 80211

RACHS wuww. COBIRACKS.com

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK

INSTALLATION INSTRUCTIONS

As shown in Fig. 47 without the rear bumper in place you will see the female end of back up sensor (SP).
Use a trim removal tool or the like as shown in Fig. 47 to remove sensor plug (SP) from the body. Once
sensor (SP) has been removed as shown in Fig. 48 | let hang freely at this time.

Shown in Fig 49, remove from vour hardware kit. driver side frame extension (E). Then remove from frame
extension (E) back plate (E1) taped to frame extension (E), shown in Fig.53. Place back plate (E1) to the side
as it will be needed shortly. As shown in Fig. 50 place frame extension (E) up mto rear vehicle 1solator body
(IB). Then install one 3/8-16 x 1-1/4" hex head screw and 3/8" flat washer (5) up through frame extension (E)
and into isolator body (IB) shown in Fig. 50 and Fig 51.

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOR ROOF RACK | eexrvo. GFBRR SHEET ] S oF 26




G OBI Intellirent Designs 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

As shown in Fig. 51, remove the diver side "outside tower brace” (OTE) from package (D)) of vour hardware kit. As shown in
Fiz. 32, place brace (OTEB) over the 3/58-16 x 1-1/4" hex head screw (5) just installed and thread on one 3/8" flat washer and one
3/8" nylock nut located in Bag 23 of vour hardware kit. Snug down screw but leave enough play for adjustment. Eemember
to always add anti-seize lubricant to all screws prior to installation.

Fig. 33

As shown in Fig 53 take frame extension back plate (E1) just recently removed from frame extension (E)} and
slide two 3/8-16 x 4-1/2" carriage bolts (E2) located in Bag #3, through frame extension plate (E1). As
shown in Fig. 53 and Fig 54 slide back plate (E1) and carriage bolts (E2) behind vehicle frame and into frame

extension (E) shown in Fig. 55

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOR. ROOF RACK | eax1yo. GFBRR sHEET 1@ oF 20




G OBI Intelligent Designe 2000 Coxp.
K Denver, Colorado 20211
ik www. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Fig. 55

RV 711 -

GO
-

As shown in Fig. 55, after installing back plate (E1) with carmiage bolts (E2) over vehicle body frame and into frame extension
(E). Thread onto each carnage bolt (E2) one 3/8" flat washer and one 3/8" nylock nut (E3). Snug down in place but leave a
little play for later adjustment. As shownin Fig. 56 and 37, add one 3/8-16 x 1-1/4" hex head screw and one 3/8" flat washer
(31) into the lower slot (E3) of frame extension (E). Then thread on one 3/8" flat washer and 3/8" nylock nut and saug down
i1 place, leave just 2 small amount of play. As shown in Fig. 36, use a 9/16 ratch and long extension with a 216" box end
wrench and snug down even more screw and nut (5.

Fig. 57

As shown m Fig. 57, use a small mallet to firmly seat frame extension (E) fully agaimst the vehicle body frame m
the direction of the red arrows. Once frame extension (E) is n full contact with vehicle frame_ refer to Fig. 56
and fullv tighten screw (8) using a %/16™ ratchet and long extension with a 9/16™ box end wrench. Then refer to
Fig_ 57 and fully tighten screw (S1) usmg two 9/16™ open or closed end wrenches. Then fully tighten both screws
(ES) as shown mn Fig. 58.

Installation Instructions for GOBIFORD ERONCO 2 & 4 DOOR ROOF RACK | eazrvo. GFBRR sHEET 17 oF 26




G OBI Intelligent Designs 2000 Cop.

RACKS Denver, Colorado 80211

wuww. GOBIRACK S.com
GEHUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Remove from yvour hardware kit driver side Tower (D) as shown in Fig. 59.  Also remove driver side inside
tower brace (ITB) shown in Fig. 59, Fig.60 and Fig. 61. Attach to tower as shown in Fig. 59 and 60, small end
of brace (ITB) to tower using a 5/16-18 x 3/4" carriage screw (S4) located in Bag #3. As shown in Fig. 60,
thread onto screw (54) one 5/16" flat washer and one 5/16" nylock mut. Snug down in place but leave some
play for adjustment.

As shown in Fig. 61 by a red arrow., lift driver side brace (ITB) up an::l to the left side
of vehicle isolator body (IB). Continue to lift and slide tower (D) in place as shown in
Fig.62 where the lower base (TB) is contacting the face of frame extension plate (E) as
shown in Fig.61 and Fig. 62.

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOR ROOF RACK | razrwo  GFBRR sHEET 1 8 oF 26




G OBI Intellipent Dezigns 2000 Coxp.
Denver, Colorado 80211
FH G www.COBIRACKS.com

GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

As shown in Fig 63, slip into all 3 holes of Tower (D) and frame extension (E) three 3/8-16 x 1-1/4" carriage
bolts (S2). As shown in Fig. 64 thread onto the 3 (S2) carriage bolts three 3/8" flat washers and three 3/8"

nvlock nuts. Smug down all three screws (S2) but leave some play for adjustment.

Fig. 65 Fig. 66

1/16" below the vehicle body. As shown in Fig 66 place a magnetic or standard small level to the side of
Tower (D) and make certain Tower (D) is level, then fully tighten all 3 carriage bolt screws (52) using a 9/16"
box end wrench.

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOR ROOF RACK | esxzvo. GFERE sHEET 19 0F 26




G O BI Intelligent Designs 2000 Coxp.
Denver, Colorade 80211

RACKS www, GOBIRACKS.com

GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Fig. 67

As shown in Fig. 67 and Fig. 68, line up the driver inside tower brace (ITB) to the outside of frame extension
plate (E). As shown in Fig. 68 use a 3/16-18 x 3/4" carriage screw (53) located in Bag #3 and slip through
frame extension plate (E) then into inside brace (ITB) in the direction of the red arrow. Thread on one 5/16" flat
washer and one 5/16" nylock nut as shown in Fig. 68 (53) and fully tighten using a 1/2" open or closed end
wrench.

As shown in Fig. 69, fully tighten the second 3/16" nylock nut (54) of the same inside brace (ITE) as shown in Fig. 68, using a
172" box end wrench. As shown in Fig. 70, loosen screw (3) using a 816" ratchet and long extension with a 216" box end
wrenich until the outside tower brace (OTB) is free to move. Then swing brace (OTE) in towards tower (D) and align free end of
brace slotted hole (SH) with tower square hole (D1) as shown in Fig. 63, Slip one 5/16-18 x 3/4" camiage screw (33) as shown in
Fiz_ 70 by a white arrow from the inside of tower (DY) out through square hole (D1) and through slotted hole at the free end of
brace (OTE) as shownin Fig. 71. Add a 5/16" flat washer and 3/16" nylock nut and snug down only at this time using a 1/2"
box end wrench.

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOR. ROOF RACK | eerrvn  GFBRE SHEET 20 oF 26




G OBI Intelligent Designs 2000 Coxp.

RACKS Denver, Colorado 80211

wuw. GOBIRACKS.com
GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

As shown in Fig.72 fully tighten down screw (S3) using a 1/2" box end wrench. Then
fully tighten down screw (S) using a 9/16" socket wrench with long extension and a
9/16" closed or open end wrench. As shown in Fig. 73, take backup sensor (SP)
removed earlier in Fig.47 and push into new location (SD) on Tower (D).

Fig. 74

As shown in Fig.74 screw (S1)
must be removed for the OEM
rear bumper or left in place if
possible, for an aftermarket rear
bumper. If screw (S1) is to be
left in, you must turn screw
around so that the hex head of
] screw is facing out as shown in
Fig.74 (S1). Driver side
Tower (D) installation is
completed. Apply the same
procedure to the passenger side
28 then reinstall rear bumper,

=l reversing the procedure shown
in Figures 44, 45 and 46.

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOR ROOF RACK | pazryo  GFBRR SHEET 2] ofF 20




G OBI Intelligent Designs 2000 Corp.

RACKS Demver, Colorado 80211

wuw, GOBIRACKS.com
GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

As shown in Fig. 75 and 76, place soft foam, blankets, or the like onto vehicle roof top to protect against
scratching or marring of the hardtop during roof rack installation. With the help of others_ lift roof rack (A)
over the vehicle as shown and hand to another person on the opposite side. Then lay the roof rack (A) flat
onto the roof top just behind light bar (B).

; e g
Remove from Bag #3 of your hardware kit four 3/8-16 x 1" carriage bolts. flat washers
and nylock nuts (S5) as shown in Fig. 77 and Fig. 78. As shown in Fig. 77 and Fig.
78 connect roof rack (A) to light bar (B) by slipping the 3/8-16 x 1" carriage bolt (S5)
through the front of the light bar (B) and into roof rack (A). Thread one 3/8" flat
washer and nylock nut to each carriage bolt (S5) securing the roof rack to the light bar
as shown in Fig. 78 and Fig. 79. Snug down screws do not fully tighten at this time.
Leave a little play for latter adjustment.

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOR. ROOF RACK | exzrvo. GFBRR SHEET 22 OF 26




G OBI Intelligent Designs 2000 Cop.

Denver, Colorado 80211
RACHKS www. COBIRACKS.com
GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

As shown in Fig. 80 and Fig. 81 set two spacer blocks 2-1/2" tall under the rear of both ends of roof rack
(A). Take the driver side rear support bar (C) shown in Fig. 81 and place under roof rack and let rest on

roof top over protective covering. As shown in Fig. 82, align the lower end flange (C1) of rear support bar
(C) with driver side rear Tower (D).

Remove from Bag #3, one

| 1/2-13 x 2-1/2" hex bolt (S3),
| two 1/2" flat washers (S4), two
| black nylon bushings (S5) and
one 1/2" nylock nut (56).
Place them m order as shown
in Fig. 82 and snug down

only, using a 3/4" socket ratchet
and 3/4" box end wrench. Use
anti-seize on all screws prior to
assembly.

4 USE ANTI-SEIZE LUBRICANT ON ALL SCREWS +

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOR ROOF RACK | raxryvo  GFBRR sHEET 23 0F 206




G OBI Intelligent Designe 2000 Corp.
~HCS Denver, Colorado 20211
i wuww. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

Fig. 83

As shown in Fig. 83, remove 2 position plates (P) from Bag #3 and place over rear rack mounting plate (E)
and over rear driver side support bar flange (C). Remowve four 3/8-16 x 1-1/4" hex head screws, eight 3/8"
flat washers and four nylock nuts (57) from Bag #3. As shown in Fig. 84, insert four 3/8-16 x 1-1/4" hex
head screws and four 3/8" flat washers (S7) through position plates (P) then through mounting plate (E.) and
through driver side support flange (C).

Fig. 85 Fig. 86

As shown i Fig. 83, use four 3/8" flat washers and four 3/8" nylock nuts (37) and snug down in place from the underside
using two 216" box end wrenches. Do not fully tighten at this time, leave some play for adjustment. As shown in Fig. 36,
adjust support bar () in the direction of the red arrow as far as possible in the slots of support plate (R). Then tighten
mounting plate screw marked (F1) using two 9/16" box end wrenches. Adjust the rear support bar () by prvoting forward or
rearward so that support bar {C) lines up with inner roof rack as shown by 2 blue lines (K}, indicating the inside tube edge of
the rack and inside tube edge of rear suppott bar {C) shown in Fig. 36, Onee aligned, fully tighten all rematiing screws (57)
using two 316" box end wrenches . Apply the same procedure to the passenger side.

Installation Instructions for GOBIFORD BRONCO 2 & 4 DOOE. ROOF RACK | rarrvo. GFBRR sHEET 24 oF 26




G OBI Intelligent Designs 2000 Coxp.

RACKS Denver, Colorado 20211

wuww,. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

As shown in Fig. 87, fll[h tighten pivot screw (PS} using two 3/4" wrenches both driver an-d passenger. After the
rear support bars (C) have been fully installed and tightened, vou will notice that the rear isolator rubber pads (RP)
are not contacting wear plate (IP) shown in Fig. 88. Turn each isolator screw both driver and passenger sides
clockwise using the black plastic knobs as shown in Fig. 88, until rubber pads (RP) contact plate (IP). Youmay
need to loosen jam muts (J) shown in Fig. 88 to turn the isolator screw. As shown in Fig. 89, pull out on the rear
driver support bar (C) in the direction of the red arrow each time you are turning the isolator screw wards or
clockwise. Pulling out on the rear support bar during each turn makes it possible to add pressure to each isolator
screw. Turn each isolator screw clockwise until vou have a measurement of at least 1-3/4" to 1-7/8" space
between inside isolator support plate (ISP) and the face of wear plate (IP) as shown in Fig. 90 both passenger and
driver sides. This will apply pressure to the roof rack support, preventing wobble or sway. After both isolator
screws have been properly adjusted. use a 1/2" open end wrench and tighten jam nut (J) as shown in Fig 90
approximately 1/2 turn each. This will prevent the isolator from coming loose during transport.

Fig. 90

As shown in Fig. 91, adjust both upper rsnlatcrrs. (RP) driver and passenger sides so that the rubber pad 15 sitting
off upper isolator wear plate (IP) approximately 1/32" to 1/16". Use two 1/2" open end wrenches and adjust
upper isolator jam nuts (J) as shown in Fig. 91 then fully tighten in place. If vou have a soft top vou can choose
to remove (RP) knob assembly completely or just leave in place. Refer back to Fig. 79 and fully tighten screws
(85) driver and passenger sides. GOBI BRONCO ROOF RACK INSTALL COMPLETED.

Installation Instructions for GOBI FORD BRONCO 2 & 4 DOOR ROOF RACK | raxrwo. GFERE sHEET 28 oF 26




G OBI Intelligent Designe 2000 Coxp.
Denver, Colorado 80211
RACHS www. GCOBIRACKS.com

GENUINE ACCESSORIES

GOBI FORD BRONCO 2 & 4 DOOR HARD & SOFT TOP ROOF RACK
INSTALLATION INSTRUCTIONS

GOBI BRONCO ROOF RACK INSTALLATION COMPLETED

CAUTION: :# DO NOT REST THE GOBI ROOF RACK ON THE REAR BUMPER AS DAMAGE CAN RESULT

% EXCESSIVE SPEEDS OVEE. ROUGH TERRAIN WITH OR WITHOUT A FULLY LOADED ROOF
RACK ARE NOT RECOMMENDED AS DAMAGE CAN OCCUR TO ROOF RACK OR VEHICLE.

Recommended Attachments for soft top use:

A)) "Quick Release" part #GIILSK 15RIL for easy and quick release of the roof rack
B) "Sun Roof Insert" part #GJJLSRI

To purchase these or other Gobi attachments please contact a Gobi online dealer or Gobi Racks direct at
1-720-479-9372 or e-mail to sales{@gobiracks.com Thank vou for your purchase

Installation Instructions for GOBI FORD ERONCO 2 & 4 DOOR. ROOF RACE | eszzvo. GFERE sHEET 20 oF 26




INTELLIGENT DESIGNS 2000 CORPORATION

This limited one year wanmnly cowers QRLY Inlelligent Deslgns 2000, Coporation CIDEI00T) products Pleasa raview ke terms and condilions of e Imied
meirranlins Do,

LIMITED ONE YEAR WABRBANTY

A0l warranties and representations, excepl a& set cul below , are hereby disclaimed, [including iness for the purchasers intendesd use or purposs
amd meschan takdlity], il products being seld AR IS, without warranty beyond that made herein, with the purchager assuming: 1) e enBire isk as o
e quallty and performance of e goods, 2 the cost of any repairs nok covered hieraln,

Irtalbgont Dasigns 2000 ComoraSon warrants as Bmiad booedm, 1o0he oigmal purdsses Bal its peococt wioh e been progesy insdaflod por prosddid
netrucdions ara frea Irom dalects in malerial andhos sorkmanship. &1 inteligent Designe 2000 option, the purchesanrs remedy lesaunder el be limilad Lo repair
oF taplaoamanl o deledg parts etured o he plaos of pechass o to elgent Dealpns 2000 81 1ne purdhas:s e,

In Leriligened Do sdgres 2000 weinrandy, as oo, sl only be ol ive sadie e original glorctasar awns Do sabiaa an wiie e he predoed ar product s was
in&laliad and =hall not apaly 11 ke pro<iuct has been removed Irom e off ginal vehicle, Inle@gent Dasigns 2000 warranly ia wold B any damags ko the
produd or products s due lo misusa, abesa, negledd, acddent, Impropse stalkaiion, o contact weth on=road o aif-road azams, progud modilicadion,
Impropar of ingdegueate maintenance of any usa confrary W 1he insrucliens acsompamying tha product. Blalligent Desins 2000 warranty only cowers he
aesd ol e ot parl 2l nol the east of remoeal, ingtaibatinn, snd palmting or athar inaklenial ar consape enlisl chargos ar damages, o porsoral njury
domapes, and 5085 not eoeer Use of any prodect on racng vehicles. nlallipent Designs Z000°s waeranly 15 not mnstaraile irom tha ark)inal purchasar,

THIS LIMITED WARRANTY DOES NOT AFPPLY TO:

1. Damagss of probiams thiet resull om shipping instala®on, manianance, o separale syslem com paenanis,

2, Damagas or protiames thad rasull o misuses, akess, opembkn oultsds smeronmental specilicalions or conlrary io the raperaments of precaulions in he
nstallalion Instnecticns. acoident, lightn Ing Sikas or oiher nalural canses, unaulherizad modfication o allerafion, incores] aledrical cirrant o vollage, olhar
crusis i arissng oul o dofid Inmatenal or wokssrsnship,

3. Theradora, he cosl of rapat or replacemant of such defective product shall be borme be? the cuslom e

Te pssune proachict quality. Intalgant Daskgns 2000 rassnms e right 1o change product dasins, matarials, spesicasons and fnishes with cut prior noi o3 1o
cugtomere, lelligent Desi ons 2000 waranly ghees you spediic legal ignls and you mizy alse have sllar dghis, which vary Tram stabs 1o sate. Some sabes do
nat imEalicns o hosy long an Implied warranty kasls, s ha abewe ImEalions may nof apply bovol. Adso, some sEles tonok allow e eadusion o limilatken of
inecilantal of consequential damages 50 Ihe ghove EMEAlions o sacusons may ne apply 1o wol Inslkgant Dagigns 2000 raserdes he nght Lo discontings
it B e S subsTole proises o prondos off 6 remeckas olher than hosa bstar in tha imkedd womanty lor Siosa fscondinuad prodecks

FHESWAR RSN 15 1N LEL OF AN OV TTIEER WAKEAMN TIES, EXFRESS €FR D PLUED, ENCLIZDME WETTIOL T LINMTENTEIN, AMY VAR RAM Y LR
MAERCHANT ALY OB T EMESS PR A8 BAVRNIGULAR PUEROSE 10O L HEESTEN | ASY IMPLUELD WARRAN LY 15 RECH IR ED Y LS T s LM TEL
15 DUBATICN T THE FXFRESS WK EAN 1Y PERICD ABRVE INTELLIGEN T DESP RS 20 GO B FURATICN S GO BLACES LSA WILL NOFLIEE

L lABLE POIE MY CORNSZOUEN T 1IAL, IMIEEC L, O IMCITERN DAL DAMSGES O ARNMY FEND INCLU MG LIS QF REV ENLC ES QR FROFTTS, 10
AONMELTTEIR ST VITE FROWGLAT P SRR S TATES DO ST A LLEFY LISV ESE 10w S35 D10 LAIMNG A I PLTET DS ERANTY LAS TS O CTHTE
FERCLLSHOMN D I CNAER AR OV DONS B ERN TRAL TAANAC SRR, SO0 PHTE SO LIRIT EATH S O1F ENCLUSFOMS SIAY MO AFPIY T ¥

REQUESTING WARRANTY COVERAGE

Fow this wamanty b be altectiva, s srongly recom mandad Ehad tha perchaser completasand mium:s Ihe waranty ragisitalion (o inlaligant Desdgns SE00 wilhin
tan daye of ke date of purchass. Repiscament pars cen Bs ablainad by reeming e pan along will procd of parchase. Warsanly daims sannod be detsoined
unlilihe marchandsae Is recelved ond nspackel. Retams made: o Intelligent Designs 2000 will not be accephed without pricr authorization from

In teligent Designs 2000. This includsed buk is nod limited to 58 shipping costs and all other inci dental costs to be paid by the cusbomer. Pleasa call e
customer service departrment at the mumber below,

LIMITED LIABILITY WARRANTY
tallgant Dasigna 2000 Corpeadien warrants s preded: o be trag of origingd defacds in mabarials of woekmanship as kong a: he ogoial poncaser
HatrE e motor vehide on which it I8 inslal el This wamanty does nol cover damaggs rasdiling Irom accident, misuss of abusa, negiect, lack of
reasM e care, of lmproper instaliation. The Company will repair o raplace, ab ks option, amy girsdes cosensd by this wsamanty Sat besomas
ched ectivie, TRIS B8 @ peans-only warranty and sach repalr of replacemenl shall e e Comgany's Saa cbEgalion aikd INe cestoman's &8 remady 108 4
ched ety prrccucl, Theo Comgsany shitll hevae nn laldity o persorsl injory, progesty clamsge, iniedantal, or consacpontial (Gemages of sy kind o
mature. THIS FORESOING WARRANTIES ARE EXCLUSIVE ARD I LIEL OF ALL OTHER WARRAMTIES, EXFRESS OR IMPLIED, AND THE
COMEAMNY DESCUAIREG ALL OTHEH WAHRANTIES, EXFHESS OF IMPLIED, INCSLLFDENG, WITHOILT LIREITATEOR, ARY IMPLIED WAHHAMNTY
CA MERCHANTAEBILITY CR FITMESS FOR & FART ICULAR FURFPOSE.

To obtain vearranty sendce, ralurms s porion to mMeligent Desifes 2000 Cofpoition wilh 4 proof of purehase 1o Me andnass e,

Flease incsde;

First Mams L&st Mame
Address Cily
E-mail Stale
Phane Rumkar Zip Gada

medigenl Designa 2000 Coporalion « 14508 E 33n Flacs Lnil E - Aurcea, COE0011 - 720 478 2573




	Gobi Ford Bronco 4 door roof rack install page 1
	Gobi Ford Bronco 4 door roof rack install page 2
	Gobi Ford Bronco 4 door roof rack install page 3
	Gobi Ford Bronco 4 door roof rack install page 4
	Gobi Ford Bronco 4 door roof rack install page 5
	Gobi Ford Bronco 4 door roof rack install page 6
	Gobi Ford Bronco 4 door roof rack install page 7
	Gobi Ford Bronco 4 door roof rack install page 8
	Gobi Ford Bronco 4 door roof rack install page 9
	Gobi Ford Bronco 4 door roof rack install page 10
	Gobi Ford Bronco 4 door roof rack install page 11
	Gobi Ford Bronco 4 door roof rack install page 12
	Gobi Ford Bronco 4 door roof rack install page 13
	Gobi Ford Bronco 4 door roof rack install page 14
	Gobi Ford Bronco 4 door roof rack install page 15
	Gobi Ford Bronco 4 door roof rack install page 16
	Gobi Ford Bronco 4 door roof rack install page 17
	Gobi Ford Bronco 4 door roof rack install page 18
	Gobi Ford Bronco 4 door roof rack install page 19
	Gobi Ford Bronco 4 door roof rack install page 20
	Gobi Ford Bronco 4 door roof rack install page 21
	Gobi Ford Bronco 4 door roof rack install page 22
	Gobi Ford Bronco 4 door roof rack install page 23
	Gobi Ford Bronco 4 door roof rack install page 24
	Gobi Ford Bronco 4 door roof rack install page 25
	Gobi Ford Bronco 4 door roof rack install page 26
	Gobi Ford Bronco 4 door roof rack install page 27

